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R Y49 T— - - g%%é gﬁl
FIIRL—R) 4000 6000 5500 5000
F@VY) 4000 6300 5800 5500
SSFaTHVIR 4000 6300 5800 5500
ILUFTILEYY 4000 6300 6000 5800
ARYT T L—INDUR 4000 6300 6000 5800
v ovtILTIT 4000 6300 6000 5800
VAN = 4000 6300 6000 5800
"y 4000 6300 6000 5800
A—oI%TIT 4000 6300 6000 5800
TILF—X 4000 6300 6000 5800
RAS=FY 4500 6800 6300 6000
v—R— 4500 6800 6300 6000
R¥=——X 4500 6800 6300 6000
AUV 5000 7000 6500 6000
rMT—KIL 5000 7500 7000 6500
STATLT—KIL 6000 9000 8000 7500
ELaroy—+ 5500 8500 8000 7500
S=FaT7aFIY— 5500 8500 8000 7500
J=I4—=9TIT 4000 6500 6000 5500
HIRATA 4000 6500 6000 5500
FAYh avh— 6000 8800 8500 8300
A5y aayh— 6000 8800 8500 8300
REYY 5000 7000 6500 6000
E—JL 6500 9000 8500 8000
EPN 6500 9000 8500 8000
a—%— 6500 9000 8500 8000
DIYbSURY—TRyS 6800 11000 9000 8500
R—4—a1)— 6800 11000 9000 8500
HiL—* 9000 12500 11500 10000
RAVE—RT—F )L 12500 15000 14500 14000
STSK—ILLRYR— 10500 12000 11500 11000
T—ILTULRYIR— 10500 12000 11500 11000
Fey—F)JL(~15kg) 8500 13000 12500 12000
Rry—EF JL(~30kg) 10500 15000 14500 14000
N—=—RAIITURYT 14000 18000 17000 16000
A—IEA2T )y as—TRyy 15500 20000 19500 19000
HEIR 12000 20000 18500 16500




DETACEN 12000 18000 16000 14000
NREF— 11000 17000 15000 13000
FSANhUIS53Ia—h 12000 20000 18500 16500
R—R)L<w> 10500 13000 12000 11500
AR5+ — 10500 13000 12000 11500
Sdvykav=3—A 10500 13000 12000 11500
I7T—ILTIVT 10500 13000 12000 11500
MEX 12000 20000 18500 16500
MIX(~15kg). MIX(~30kg) EHEM EEM ER# ER#

MM EAL




